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£6)=(e+ ) — (¢ +37) =32y + 307 = 30(x + y)
f65)=(x+y) —(x5 +y5)= 5x*y+10x°y? +10x%3° + 5x°
= Sxy(x3 + 2x2y + 2xy2 + y3): Sxy(x3 + y3 + 2x2y + 2xy2)
= Sxy{(x + y)(x2 —xy+ y2)+ 2xp(x + y)}z Sxy(x + y)(x2 —xy+ yz)
f(7)=(x+y) - (x7 + y7)= 7x%y 421092 +35x%)° +35x% % + 212 p% + 7200
= 7xy(x5 + 3x4y + 5x3y2 + 5x2y3 + 3xy3 + ys)
= 7xy(x5 + y5 + 3x4y + 3xy3 + 5x3y2 + 5x2y3)
- 7xy{(x ¥ y)(x4 —Xy+x2yt -t + y4)+ 3xy(x + y)(x2 —xy+ yz)
+5x2 % (x + y)}

= 7xy(x + y){(x4 - x3y + x2y2 - xy3 + y4 )-1— 3xy(x2 —xy+ y2 )+ 5x2y2 }
= 7xy(x + y)(x4 + 2x3y + 3x2y2 + 2xy3 + y4)

= 7xy(x + y)(x4 + 2x2y2 + y4 - x2y2 + 2x3y + 2x2y2 + 2xy3)

= Txy(x + y){(xz + yz)z —x2y? + 2xy(x2 +xy+ 32 )}
= Ta(x+ )

+y? —xy e + 2 +xy)+2xy(x2 +xy+y2)}
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= 7xy(x + y)(x +xy+ yz)z



